Physics Final – Study Guide Problems Solved
Problems (Examples)

If you are biking at a speed of 2 m/s how far will you have traveled in 100 seconds?

v=d/t    d= (2m/s)(100s) = 200m
d= vt         

What is the average speed of a train that travels 100 Km in one hour?

v=d/t    100Km  =100Km/hr
1 hr
What is the acceleration of a car that can goes from a stop to 10m/s in 5 seconds?

10m/s – 0m/s  = 2m/s2
       5s
What is the momentum of a car that has a mass of 2,000 Kg. And is traveling at 3 m/s.

p=mv  p=(2,000Kg)(3m/s) = 6,000 Kg m/s
What is the force of gravity working on a 50 g mass that is accelerated at 10m/s2
FG= ma  = FG = (0.05Kg)(10m/s2) = O.5 N or 0.5 Kgm/s2  
How much work is required to push a 50 N object 5.0 meters along the floor?

W= Fd  W= (50N)(5m) = 250 Nm or 250 J
How much work is being done by lifting a 5 N weight 1 meter off the floor?

W= Fd  W= (5N)(1m) = 5 Nm or 5 J
What is the power of a machine that does 5,000 Joules of work in 50 seconds?

Power = Work/time  P= 5,000J/50s= 100 J/s
P= W/t   
A lever has an effort arm that is 9 m long and a resistance arm that is 3 m long. What is

the mechanical advantage of the lever?

MA=Length of effort arm         = 9m = 3   Not on Test
       Length of resistance arm    3m
 3 V is applied across a 6 Ω resistor. What is the current?

 

V=IR
I = V/R = 3 V/6 Ω = 0.5 amps
 

 

 A 1.2 kΩ resistor passes a current of 0.2 A. What is the voltage across it?

 

 V=IR = (0.2amps)(1,200Ω) = 240 volts or 200 volts using significant figures
 

What is the resistance offered by the lamp?

 


 

 What is the voltage provided by the battery?
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V=IR = (2A)(7Ω) = 14 volts
